302 Review Answers
A)
1) Rise/Run = 30/18=5/3: Made $1.67 per hour
2) (0, 20): At 0 hours worked earned $20
3) Approximately $42

4)  y = $1.67x + 20

B)    
1) y = .50x + 15


2) (0, 15) 

3)  At 0 minutes of tutoring cost $15 for supplies and materials

4) .50


5) Tutor charged of $.50 per minute

C) 
1) Graph


2) (0,800)


3) At 0 minutes the tower had 800 gallons of water


4) (40, 0)


5) At 40 minutes the tower had 0 gallons of water


6) -20


7) Tower was LOSING water at a rate of 20 gallons per minute

D) 
1) y = 800 – 2x


2) graph


3) (0,800)


4) At 0 seconds the dummy was 800 ft. above the ground


5) (400, 0)


6) At 400 minutes the dummy was 0 ft. above the ground

E) 
1) y = 35x + 50

2) (0, 50)

3) At 0 months cost $50

4) 35


5) Verizon charges $35 per month for cell phone service 

F) 
1) Days

2) Pages Remaining


3) By 1’s

4) By 25’s


5) -50/3; Oscar read -16.67 pages per day


6) (0,250); At 0 days Oscar had 250 pages remaining


7) Approximately 180 pages remaining


8) y = 250 – 16.67x; In 9 days Oscar will have 100 pages remaining

